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Chapter 4  2C Opening
Agu. 11, 2022
(1) 11~14HCP , 6+card C, or 5 cards C with 4 cards M
(2) 13~14HCP, 6 cards C with 5 cards M/D
	2C
	2D
	Ask, (1) Normally 10+HCP; (2) If 4414 or 4513 or 4423 or 4504 or 5503, may be 6+HCP.
Then, new suit is GF

	
	2H/2S
	NF, 5+card H/S, 8-11 HCP (6+card, may be 6+HCP)

	
	2N
	(1) Weak support in C, 7-8HCP, or
(2) GF in 2 suits (55+), relay to 3C. Then rebid 3D=D+H, 3H=H+S, 3S=S+D

	
	3C
	9-11, 3+card C, no 4 card M, invitational

	
	3D/3H/3S
	10-11, 6+card D/H/S, invitational

	
	3N/4M
	To play

	
	4C
	RKC, trump is C

	
	4D
	PRE


	2C
	2D
	Ask

	2H/2S
	
	4 card suit H/S, Min or Max

	2N
	
	Min, 6+card C, no 4 card M, may have short or no

	3C
	
	Max, 6+card C, may have short or no short

	3D/3H/3S
	
	Max, 6+card C & 4 card D/H/S

	3N
	
	Solid C suit, AKQJXX

	4C
	
	Max, 8+C or 7C+4D

	4D/4H/4S
	
	6+card C with 5 card D/H/S, Max, 13~14


	2C
	2D
	Ask

	2H/2S
	4C
	RKC, trump is C

	
	3D
	Ask shortness

	4C/4D
	
	6421, 6 cards, single D/M’, Min

	3H/3S/3N
	
	Min or Max, 5422 / 5431 single D/5431 single M’

	
	4C
	RKC, trump is C

	
	4D
	Ask power. Then 4H/4S=Min/Max

	
	4N
	RKC, trump is H(to 2H)/S(to 2S)


	2C
	2D
	Ask

	2N/3C
	4C
	RKC, trump is C

	
	3D
	Ask shortness

	3H/3S/3N
	
	No short or short H / short S / short D.

	
	4C
	RKC, trump is C

	
	(to 3H)3S
	Ask. Then reply 3N=no short, others=short H


Opponent’s intervention
	2C
	
	2D
	X
	

	P
	
	
	
	Min, 6+C, no 4 card M. Then 3D=ask stopper (not ask short)

	XX
	
	
	
	Max, 6+C, with DA, no 4 card M. Then 3D=ask short

	2N
	
	
	
	(not LEB) Max, 6+C, no 4 card M, stopper on D. Then 3D=ask short

	3C
	
	
	
	Max, 6+C, no 4 card M, no stopper on D. Then 3D=ask short

	2M
	
	
	
	Min or Max, 5+C & 4 card M. Then 3D=ask short

	Others
	
	
	
	Same as no X


	2C
	
	2D
	2M
	

	P
	
	
	
	(to 2M=2H)Min, 6+C. Then 3M=ask M stopper.
(to 2M=2S)Min, 6+C, or 5+C & 4 cards H

	X
	
	
	
	(to 2M=2S) Max, 5+C & 4 card H

	2S
	
	
	
	(to 2M=2H) Min or Max, 5+C & 4 card S

	2N
	
	
	
	Max, 6+C, stopper on M. Then 3D=ask short

	3C
	
	
	
	Max, 6+C, no stopper on M. Then 3D=ask short, 3M=ask half stopper

	3D
	
	
	
	Max, 6+C & 4 card D

	3H
	
	
	
	(to 2M=2S) Max, 6+C & 4 card H

	3S
	
	
	
	(to 2M=2H) Max, 6+C & 4 card S


	2C
	X
	XX
	
	11+HCP, then bid 2N=INV, bid X=PEN, 

bid D=NAT,F1 

	
	
	2D
	
	Ask, same as no X

	
	
	Others
	
	Same as no X


	2C
	2B
	X
	
	T/O (a) (to 2D), same as we 2C 2D
(b) (to 2M) promise 4+card M’
Then new suit is forcing.

	
	
	2H/2S
	
	NF, NAT, 6-11,HCP

	
	
	3C
	
	9-11 HCP, invitational

	
	
	3D/3H/3S
	
	Overcall or jump 3M, suit, INV

	
	
	3B
	
	Western CUE, no 4 card M; otherwise bid X first 

	
	
	3N
	
	NAT, have B stopper and no 4 card M (not fit C)

	
	
	2N
	P
	Good/bad 2N, relay to 3C , one suit to compete

	3C
	
	
	
	Forced rebid

	
	
	P
	
	C suit, to play

	
	
	3D/3H/3S
	
	D/H/S suit (not B), NAT, to play. 

	
	
	3N
	
	With B stopper, fit C (If not fit C, then 3N first)


	2C
	2S
	X
	P
	X=T/O, 4+H or long D

	2N
	
	
	
	Min. Bid 2N if min for any shape 

	3C
	
	
	
	Max, no 4+H

	3H
	
	
	
	Max, 4 card H


	2C
	3H
	X
	
	T/O, 4+S or power

	
	
	3S
	
	GF, S suit (Opp weak, then we strong)
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